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Beitragsverteilung
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31.12.1899
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== Summe Beitrag
Pa

= Kosten
BU pa

=== Einzahlung
Fonds pa

Einzahlung
Abziglich
Kosten pa



Netto-Einzahlungen Fonds pa

40000
35000
30000
25000 _
m— keine BU
BU mit 31
m— B mit 40
20000 BU mit 50
— BU mit 55
BU mit 60
15000
10000
5000
/////// E— e — —_—— —— ::::::::r
0 —
31.12.1899 07.01.1900 14.01.1900 21.01.1900 28.01.1900 04.02.1900

Jahre (Alter - 25)



Kapitalentwicklung 3 % Netto-Rendite

600000
500000
400000
= keine BU

= BU mit 31

= BU mit 40

300000 = BU mit 50

BU mit 55

= B mit 60
200000
100000
0

31.12.1899 07.01.1900 14.01.1900 21.01.1900 28.01.1900 04.02.1900

Jahre (Alter - 25)
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Kapitalentwicklung 5 % Netto-Rendite

1 2 3 45 6 7 8 91011121314 151617 18 19 20 21 22 23 24 25 26 27 28 29 30 31 32 33 34 35 36 37 38 39 40 41 42

Jahre (Alter - 25)

keine BU
m—— BU mit 31
BU mit 40
m—— BU mit 50
BU mit 55
e BU mit 60



